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QUESTION 1

Which of the following best describes downstream unsolicited label distribution?

A. An LSR may answer requests for label mappings immediately, without waiting for a label mapping from the next-hop.
B. An LSR may advertise label mappings to all peers for which it might be a next-hop for a given FEC.

C. An LSR propagates a label mapping downstream for a FEC, only if it has a label mapping for the FEC next-hop.

D. An LSR will only distribute a label for a FEC when it has been requested to do so.

Correct Answer: B

QUESTION 2

Which of the following regarding label population is TRUE?
A. Selected labels from the FIB are populated to the LFIB.
B. Selected labels from the RIB are populated to the FIB.
C. Selected labels from the LIB are populated to the FIB.
D. Selected labels from the LIB are populated to the LFIB.

Correct Answer: D

QUESTION 3

Which of the following statements regarding admin groups is FALSE?

A. Admin groups can be configured using the command "configure>router>mpls>admin-group".

B. CSPF uses the information defined by admin groups when paths are computed for constraint- based LSPs.
C. By default, interfaces for which MPLS has been enabled are in the default admin group.

D. A LSP can make use of admin groups for constraint-based path calculations by including or excluding the admin
group

Correct Answer: C

QUESTION 4

Click on the exhibit.
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An LSP traverses R1-R2-R4-R6 and facility fast reroute with link protection is enabled. All links have the same cost.
Which of the following about PLRs and MPs is TRUE?

A. R1, R2, and R4 can be PLRs; R6 is the MP.

B. R1, R2, and R4 can be PLRs; R2, R4, and R6 are MPs.

C. R1, R2, R3, R4, and R5 can be PLRs; R6 is the MP.

D. R1, R2, R3. R4, and R5 can be PLRs; R2, R4, and R6 is the MP.

Correct Answer: B

QUESTION 5

If an Alcatel-Lucent 7750 LSR receives a labeled packet with a outer label TTL of 250 and an inner label TTL of 251,
which of the following statements is true?

A. The packet will be label switched; the outer label TTL will be 249 and the inner label TTL will be 250.
B. The packet will be label switched; the outer label TTL will be 249 and the inner label TTL will be 251.
C. The packet will be label switched; both the outer label TTL and the inner label TTL will be 250.

D. The packet will be label switched; both the outer label TTL and the inner label TTL will be 249, because they must be
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the same.

Correct Answer: B
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